BA / BSc (Semester — V)
Indian Economic Policies (CC - 4/ GE - 4)
(English Version)

Attempt questions from all groups A, B and C as they will be marked separately

Group-A
(Answer any five from questions 1 to 6) (5x2 = 10 marks)

Write brief notes on any five from questions 1 to 6:

1.

oukewnN

10.

11.

12.

13.

14.

High Yielding Variety of seeds in Green Revolution
Zamindari System
Import policy under the Pre-reform foreign trade policy
Competition Act, 2002
Niti Aayog and the Planning Commission
Disinvestment

Group —-B

(1x8 = 8 marks)

‘Green Revolution and its impacts and limitations’, elaborate. (8)

Group—C
(Answer any one from questions 8. (a) and (b)) (1x2 = 2 marks)
(a) What is Foreign Direct Investment? (2)
(b) What are Public Sector Enterprises? Give an example. (2)
(Answer any two from questions 9 to 11) (2x5 = 10 marks)

Write a note on the role and performance of cottage and small scale industries in the Indian
Economy. (5)

Write a note on purpose of Labour Regulation and the evolution of Labour Policy in India. (5)
Write a note on the policy related to Monopolies and Restrictive Trade Practices in India. (5)
(Answer any two from questions 12 to 14) (2x10 = 20 marks)

What are the causes of low agricultural productivity in India? Suggest some measures to
increase agricultural production and productivity. (5+5)

In the background of India’s pre-reform import and export policies, elaborate on the foreign
trade policy of India in the post-reform period (after 1991). (10)

Elaborate on ‘Public Sector in the Indian Economy’. (10)
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(Bengali Version)
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